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(b) What distributions are good approximations for T and X?
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2. A farm packs tomatoes in crates. Individual tomatoes have mean weight of 10 ounces and
standard deviation of 3 ounces. Estimate the probability that a crate of 40 tomatoes weighs
between 380 and 410 ounces.
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3. Customers at a popular restaurant are waiting to be served. Waiting times are independent

and exponentially distributed with mean 1/1 = 10 minutes.

(a) Use the CLT to approximate the probability that the average wait time of 50
customers is less than 12 minutes.
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(b) What is the exact probability that the average wait time of the 50 customers is less than
12 minutes?
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4. Suppose you flip a fair coin lots of times. What does the Law of Large Numbers say about
the numbers of heads and tails you will observe?

o  be continued. .

5. Suppose that a certain casino game costs $1 to play, and the expected winnings per game
are $0.98. What does the Law of Large Numbers say about your winnings if you play the
game lots of times?
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